o0 a ) (cm)

Ratio

Xy

1.V

0.9

0.

a(d d) (cm)

S T

DR LN T A
R R AR R LR RIS
S 2 A A S I

FitREFit 1000evt
“TESTOLHIT 1000ev
_I'ESTOLHI'I_10009vt 50000t

VI_CKEFRIT _T0UUeVT
é :F\:/IléFREFIt 1000evt

4

: # s # 3
fﬁ&jﬁ 3 *+fﬂ: ¢#+ #+++##++:t++$*

RER

..........................................................................

o

TR
+
{
i
piE
+?¥&
e
%
.

U1
_+_
EE
_|._

—T—*“

9

—3 2 O 1 2 3
TP ® (PCA to beamline)

1¥+++++*+++

L
ir?fHH_JrzﬁJrJ, _+1+ LJr+ ﬁ# \ ﬁ#{

TP CD (PCA to beamline)




	Contents
	Page 1


